A2 108 B FAE R WA E W
Rl . AAIRLALELWALE Fos(—E4) #2785 #%|H
FB . LECEAHK? SnH8m 2 =2 Ak
el T AL T = \Q&‘Z = %Tg HEAY

71—\5{+’g_:5k4?1 s At E A v BERE S T RE R 4 3 R B B GEs LA “IE%Z:%L_[‘%
RS (50 2°)

—CRERFRERER 010 RS RAE LT MARR S BRGLR LIRS
ﬁﬁ’%ﬂ&ﬁ$¢%1«1Rw%&$%ﬁ?4@uizammﬁ$gﬂo
(B » 16 )

~ 3545 H BAF BBk B 748 B 44 B (correlation coefficient » »)# il o2 R (B
N4 12 9)

L EREREMEAR GBS Z A R %48 B
2. MATIREIHERFSROTERBAIREZHUER
2 Flehae Mtk r % 1.08 -

[}

3. EENIZWEEGFERIVUANZBIGEr & 0525 -
= {-}’-_",’-‘- i:_l_;t’&.ﬂ‘ /B'J)?'—.T—i"’ “%"1]‘1 —"3 & 7”%‘ 7 R éé:’;@{jéii,a PATF 4= —f’; &L
,ﬁ B BR) (-ﬁ-dx;ﬂé .3 a) e
,éﬂ“l’,-:zs %k

148 2

139 3

130 - 8

121 il

112 27

103 35

94 43

85 33

76 20

67 12

58 6

49 4

40 2
I RRERATEFAR -
2. HFWEEIE -

v ~ 1] 3F B8 2 MK B (significance level) 7 (4
IREGERG L) -

7\)5&7*% 8 45) F 38,90 FE 2 MR B

., db o8z
N AT T e 2|
ALY
]‘\L‘.‘ . J.l




2R AP

108

B4R

S R e A WAL =

>t ®
EEW]

(8l T AATEEASEERELS A

a(—MAE)

n“

78 IRLEAGH

. TEEHE(50H)

NTD, respectively.

Please answer the following questions:

** To find Present value given Future value (P/F) at the first 1S period discount rate:

AFERTEASTESR > B HHETH

You have been asked to provide business suggestions for an engineering consulting company. The following
information may be required to carry out your work: (1) the corporate tax is at 17%; (2) the total asset for the
company is $10 million NTD (New Taiwan Dollars) and has zero debt currently; (3) the interest rate for its short
term loan is at 8% for the first $8 million NTD and the increase at 8% for the next $8 million NTD; (4) the investors
demand for 12% of return from consulting company-related stock; (5) the company currently has $2 million NTD
cash on hand for coming-up projects; (6) the rate of returns for S coming-up projects (A~E) that potentially will be
awarded are at 8%, 10%, 14%, 16%, and 20%; (7) the contract price for A~E projects are at $16, $8, $8, $4, $2 million

(a) Before taking any projects, what is the current and most-likely before-tax Minimum Attractive Rate of Return
(MARR) for the company (10 pt)? Please describe your reason(s) (5 pt).

(b) Considering the result from (a), the opportunity cost viewpoint, and § coming-up projects, please plot a chart
with x-axis of annual rate of return and y-axis of cumulative investment amount (20 pt). The chart must have, at
least, the corporate cost of capital curve.

(c) Based on the results from (b), which project(s) can be taken to maximize the corporate profits (15 pt)?

i=8% i=10% i=129% i=14% i=16% i=18% i=20%
Period 1 9259 9091 .8929 8772 .8621 8475 .8333
Period 2 8573 .8264 7972 7695 7432 7182 6944
Period 3 7938 7513 7118 6750 6407 6086 5787
Period 4 7350 6830 6355 5921 5523 5158 4823
Period § 6806 6209 5674 5194 4761 4371 4019
Period 6 6302 5645 .5066 4556 4104 3704 .3349
Period 7 5835 5132 4523 3996 .3538 3139 2791
Period 8 .5403 4665 4039 .3506 .3050 .2660 2326
Period 9 .5002 4241 .3606 3075 2630 2255 1938
Period 10 4632 3855 3220 2697 2267 1911 1615
Period 11 4289 3505 2875 2366 1954 1619 1346
Period 12 3971 .3186 2567 2076 .1685 1372 1122
Period 13 3677 2897 2292 1821 1452 1163 0935
Period 14 .3405 2633 2046 1597 1252 0985 0779
Period 15 3152 2394 1827 1401 .1079 0835 .0649
) **To find Present value given Annuity (P/A) at the first 15 period discount rate:

i=89% i=10% i=12% i=14% i=16% i=18% i=20%
Period 1 0.9259 0.9091 0.8929 0.8772 0.8621 0.8475 0.8333
Period 2 1.7833 1.7355 1.6901 1.6467 1.6052 1.5656 1.5278
Period 3 2.5771 2.4869 24018 2.3216 2.2459 2.1743 2.106S5
Period 4 3.3121 3.1699 3.0373 29137 2.7982 2.6901 2.5887
Period § 3.9927 3.7908 3.6048 3.4331 3.2743 3.1272 2.9906
Period 6 4.6229 4.3553 4.1114 3.8887 3.6847 3.4976 3.3255
Period 7 5.2064 4.8684 4.5638 4.2883 4.0386 3.8115 3.6046
Period 8 5.7466 5.3349 4.9676 4.6389 4.3436 4.0776 3.8372
Period 9 6.2469 5.7590 5.3282 4.9464 4.6065 4.3030 4.0310
Period 10 6.7101 6.1446 5.6502 5.2161 4.8332 4.4941 4.1925
Period 11 7.1390 6.4951 5.9377 54527 5.0286 4.6560 4.3217
Period 12 7.5361 6.8137 6.1944 5.6603 5.1971 4.7932 4.4392 S sbL |

: X, 3k V}f ﬁ "\‘ b

Period 13 7.9038 7.1034 6.4235 5.8424 5.3423 4.9095 4.5327 5 H ﬂ w %
Period 14 8.2442 7.3667 6.6282 6.0021 5.4675 5.0081 4.6106 =
Period 15 8.5595 7.6061 6.8109 6.1422 5.5755 5.0916 4.6755




